
 

 
 
 
  

On-ro
Produ
 

 

oof sys
uct cata

stem A
alogue

Alpha
e 



 Status: 1302   I/2 
 

  Product Catalogue – Alpha

 

Contents 

ALPHA ..................................................................................................................................................................... 3 

1. ALPHA BASE RAILS .......................................................................................................................................... 4 

2. ALPHA SPLICES ................................................................................................................................................ 5 

3. ALPHA TELESCOPING END PIECES ............................................................................................................... 6 

4. ALPHA • QCC-RAIL ............................................................................................................................................ 7 

5. ALPHA INTER-MODULE CLAMPS AND MODULE END CLAMPS ................................................................. 9 

6. ALPHA FOR LAMINATES ................................................................................................................................ 11 

7. ALPHA ROOF HOOKS AND HANGER BOLTS .............................................................................................. 11 

8. ALPHA SETS OF SMALL PARTS ................................................................................................................... 14 

9. CABEL FIXING/GROUNDING COMPONENTS ............................................................................................... 18 

10. ALPHA SAMPLES .......................................................................................................................................... 19 

11. SPECIAL COMPONENTS ............................................................................................................................... 19 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

In general:  

 
| For all business transactions, Mounting Systems GmbH’s “General terms and              

conditions“ are valid, as well as any items negotiated and confirmed for a specific  
transaction. 

| Through the publishing of this catalogue, all former catalogues become invalid. 

| All information in this document may be subject to alterations. 

 
 
 
 
 
02.2013 © Mounting Systems GmbH 
 
Produktkatalog_ENG_1302.doc  
 
 



Status: 1302   I/3 
 

 
 Product Catalogue – Alpha 

 Alpha 

 
 

 
 

  

  

  

  

 
 

 

 
Components 

a. Connections to the roof 

b. Base rail 

c. Splice (if needed) 

d. Telescoping end piece  

        (optinal) 

e. Module fixation  
(adapted to frame height) 

f. Anti-slip protection for framed 
modules (not depicted) 
 

 
 

Notes  

| Alpha is ordered piece by piece. 
| Using our Alpha-Calculation Tools, you can easily verify the static soundness of your system, create a 

bill of materials and calculate your price.  
| For this system, we have put together a wide range of documentation for your convenience. We can 

provide technical data sheets and installation manuals in different languages. Please do not hesitate to ask 
for them. 

| When requesting quotations, please use our form “Technical Planning Aid” (On-roof/Eternit or metal 
cladding) and mail it to sales@mounting-systems.de. 

| Delivery time: Goods issue ex works within 3 days after receipt of written order. 

 
 

Sample order*:  

Art.-No. Description Quantity 

 Sample order Alpha  
720-0009 Set: 20 x Roof hook 170 standard  2 
720-0051 Set: 20 x Rail fixation standard  2 
800-0504 Base rail 7/49, 3 m 4 
720-0225 Set: 6 x telescoping end piece 7/49 1 
720-0030 Set: 10 x Anti-slip protection  1 
720-0125 Set: 10 x Module end clamp frame 43 mm 1 
720-0071 Set: 20 x Inter-module clamp frame 32-46 mm 1 
810-0002 Installation manual Alpha ENG 1 

* example: 
Module field with 2 rows and 4 columns, Module type E175P, Modules orientation portrait, gable roof, 
height of building 7 m, pitch 30°, ground elevation 78 m, terrain category A, wind zone II and snow 
zone I, non-exposed site, distance between rafters 0.6 m 

 
 
 
 
 
 
 
 

c

b

a

d
e



 Status: 1302   I/4 
 

  Product Catalogue – Alpha

 1. Alpha Base rails 

 

 Description 

 
 

| h/w = 49/43.5 
| Aluminium  
    (EN AW 6063 T66) 
| Ix = 7 cm4 
| 1.01 kg/m 

Base rail 7/49 
 

Length Single part Set of 4 
6000 mm 800-0088  
3000 mm 800-0504 720-0214 
2400 mm 610-0543 720-0213 
1800 mm 610-0533 720-0212 
1200 mm 610-0523 720-0211 
600 mm 610-0513 720-0210 

 

 
| h/w = 58/34.2 
| Aluminium  
    (EN AW 6063 T66) 
| Ix = 13 cm4  
| 1.22 kg/m 

Base rail 13/58 
 

Length Single part Set of 4 
6000 mm 800-0156  
3000 mm 800-0525 720-0250 
2400 mm 610-0545 720-0249 
1800 mm 610-0536 720-0248 
1200 mm 610-0526 720-0247 
600 mm 610-0519 720-0246 

 

 
 
| h/w= 63/35.6 
| Aluminium   
    (EN AW 6063 T66) 
| Ix = 19 cm4  
| 1.42 kg/m 

Base rail 19/63 
 

Length Single part 
6000 mm 800-0546 
3000 mm 610-0569 
2400 mm 610-0568 
1800 mm 610-0567 
1200 mm 610-0566 
600 mm 610-0565 

 

 



Status: 1302   I/5 
 

 
 Product Catalogue – Alpha 

 
 

 Description 

 
 
| h/w= 65/39.5 
| Aluminium  
    (EN AW 6063 T66) 
| Ix = 25 cm4  
| 1.73 kg/m 

Base rail 25/65 
 

Length Single part 
6000 mm 800-0176 
3000 mm 800-0527 
2400 mm 610-0547 
1800 mm 610-0537 
1200 mm 610-0527 
600 mm 610-0517 

 

 

 

Please note that the transport costs will rise for rail lenghts over 2,4 m. 

 

 2. Alpha Splices 

 

 
| Aluminium (EN AW 6063 T66) 
| Incl. pre-assembled small parts (2 stainless steel Allen bolts M8) 
| l = 160 mm 
 

 Description 

 

Splice 7/49 
Inter-connecting base rails 7/49 
 

 
Single part 

Sets 
 25 Pcs 50 Pcs 100 Pcs 

Splice 7/49 706-0010 720-0066 720-0061 720-0064 
 

 

Splice 13/58 
Inter-connecting base rails 13/58 
 

 
Single part 

Sets 
 25 Pcs 50 Pcs 

Splice 13/58 706-0023 720-0253 720-0254 
 

 
Splice 19/63 
Inter-connecting base rails 19/63 
 

 
Single part 

Set 
 12 Pcs 

Splice 19/63 706-0017 720-0068 
 

 
Splice 25/65 
Inter-connecting base rails 25/65 
 

 Single part                     Sets 
50 Pcs 100Pcs 

Splice 25/65 706-0021 720-0556 720-0557 
 

 



 Status: 1302   I/6 
 

  Product Catalogue – Alpha

 

 3. Alpha Telescoping end pieces 
   

| Aluminium (EN AW 6063 T66) 
| Incl. 2 Pcs of base rail à 56 mm and small parts (2 stainless steel Allen bolts M8,  

pre-assembled)  
| l = 750 mm 
 

 Description 

 

Telescoping end piece 7/49 
Adjusting to the millimetre the length of a line of base rail 7/49 
 

 
Single part 

Set 
 6 Pcs 

Telescoping 
end piece 7/49 

706-0012 720-0225 
 

 

Telescoping end piece 13/58 
Adjusting to the millimetre the length of a line of base rail 13/58 
 

 
Single part 

Set 
 4 Pcs 

Telescoping 
end piece 13/58 

706-0024 720-0270 
 

 

Telescoping end piece 19/63 
Adjusting to the millimetre the length of a line of base rail 19/63 
 

 
Single part 

Set 
 4 Pcs 

Telescoping 
end piece 19/63 

706-0018 720-0227 
 

 

Telescoping end piece 25/65 
Adjusting to the millimetre the length of a line of base rail 25/65 
 

 Single part Set 
4 Pcs 

Telescoping end 
piece 25/65 

706-0022 720-0558 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



Status: 1302   I/7 
 

 
 Product Catalogue – Alpha 

 
 

 4. Alpha • QCC-Rail 

 Description 

 

 
 
| h/w = 36.5/35.5 
| Aluminium  

(EN AW 6063 T66) 
| Ix = 3.5 cm4 
| 0.879 kg/m 
 

Base rail 4/36 QCC 
 

 
Single part 

Length 
6000 mm 800-0737 
4150 mm 800-0761 
2400 mm 800-0755 

 

 

 

Please note that the transport costs will rise for rail lenghts over 2,4 m. 

 

 

 Splice QCC 

 

 
| Aluminium (EN AW 6063 T66) 
| Incl. pre-assembled small parts (2 stainless steel Allen bolts M8) 
| l = 100 mm 
 

 Description 

 

Splice QCC 
Inter-connecting base rails 4/36 QCC 
 

 
Single part 

 
Splice QCC 706-0032 

 

 
 

 Rail fixation T-Head for QCC 
 Description 

 

T-Head bolt with locking nut 
Fixing the base rail to the roof hooks/hanger bolts  
 
All components are made of stainless steel. 

| T-head bolt M8x25 mm or M10x25 mm 
| Hexagonal locking nut M8 or M10 
 

 Set 
100 Pcs  

Rail fixation T-Head M8 720-0818 
Rail fixation T-Head M10 720-0856 

 

 
 



 Status: 1302   I/8 
 

  Product Catalogue – Alpha

 

 Cross rail installation QCC 
 Description 

Cross connector QCC pre-assembled 
For installations with two layers of rails 
 
Upper layer QCC-rail, lower rail layer all base rails are possible 
 

| 1 Cross connector Aluminium (EN AW 6063 T66) 
| 1 Stainless steel Allen bolt M8x25mm 
| 1 Stainless steel lock washer 8 mm 
| 1 Quickstone, Aluminium (EN AW 6063 T66) 

 
 Single part 
 

cross connector QCC  
pre-assembled 

704-0025 
 

 

 Clamps QCC 
 Description 

 

 

S-5 E-Mini-FL 
Fixing PV-Installations on standing seam roofs without penetration 
 

 Single part 
S-5 E-Mini-FL  805-0075 

 

 

S-5 Z-Mini-FL 
Fixing PV-installations for example on Kalzip roofs without penetration 
 
 Single part 

S-5 Z-Mini-FL 805-0077 
 

 

With this type of fixation, the roof skin – i.e. the standing seem sheeting and its  
fixation must be able to withstand all occurring loads. The customer is solely  
responsible for clearing this issue. Mounting Systems GmbH will not statically verify 
the suitability of any roof for this type of fixation. 

 



Status: 1302   I/9 
 

 
 Product Catalogue – Alpha 

 

 5. Alpha Inter-module clamps and module end clamps 

 Description 

 
 
Module end clamps 
for different frame 
heights can be 
produced to order. 
Please indicate the 
desired frame height 
in your order. Black 
Box-End clamps are 
available on request. 

Box-End clamp  
Fixing the modules to the base rails 
 
Incl. small parts (pre-assembled): 
| 1 Module end clamp, Aluminium (EN AW 6063 T66) 
| 1 Stainless steel Allen bolt M8 
| 1 Stainless steel lock washer 8 mm 
| 1 Quickstone, Aluminium (EN AW 6063 T66) 
 

 
Single part 

Sets 
 10 Pcs 50 Pcs 100 Pcs 

Frame 30 mm 702-0057    
Frame 31 mm 702-0127 720-0692 720-0693 720-0694 
Frame 36 mm 702-0062    
Frame 44 mm 702-0069  720-0156  

 

 
 
 
Module end clamps 
for different frame 
heights can be 
produced to order. 
Please indicate the 
desired frame height 
in your order. 

Z-End clamp for portrait installation 
Fixing the modules to the base rails 
 
Incl. small parts (pre-assembled): 
| 1 Module end clamp, Aluminium (EN AW 6063 T66) 
| 1 Stainless steel Allen bolt M8 
| 1 Stainless steel lock washer 8 mm 
| 1 Quickstone, Aluminium (EN AW 6063 T66) 

 

 
Single part 

Sets 

 10 Pcs 50 Pcs 100 Pcs 

Frame 33 mm 702-0117 720-0116 720-0146 720-0176 

Frame 35 mm 702-0061 720-0118 720-0148 720-0178 

Frame 38 mm 702-0128 720-0743 720-0744 720-0745 

Frame 40 mm 702-0130 720-0746 720-0747 720-0748 

Frame 42 mm 702-0129 720-0749 720-0750 720-0751 

Frame 43 mm 702-0068 720-0125 720-0155 720-0185 

Frame 45 mm 702-0131 720-0752 720-0753 720-0754 

Frame 46 mm 702-0070 720-0127 720-0157 720-0187 

Frame 50 mm 702-0072 720-0129 720-0159 720-0189 
 

 



 Status: 1302   I/10 
 

  Product Catalogue – Alpha

 

 
 
Module end clamps for 
different frame heights 
can be produced to 
order. Please indicate 
the desired frame 
height in your order. 
Other black Z-End 
clamps are available 
on request. 
  

Z-End clamp  
Fixing the modules to the base rails 
 
Incl. small parts (pre-assembled): 
| 1 Module end clamp, Aluminium (EN AW 6063 T66) 
| 1 Stainless steel Allen bolt M8 
| 1 Stainless steel lock washer 8 mm 
| 1 Quickstone, Aluminium (EN AW 6063 T66) 

 

 
Single part 

Sets 

 10 Pcs 20 Pce 50 Pce 100 Pce 
Frame 35 mm 

black 
702-0107 720-0134 720-0511 720-0163 720-0199 

Frame 40 mm 
black 

702-0178     

Frame 42 mm 
black 

702-0150 720-0803  720-0804 720-0805 

Frame 45mm  
black 

702-0162 720-0837 720-0838   

Frame 46 mm  
black 

702-0074 720-0271 720-0513 720-0509  

Frame 50 mm 
black 

702-0079 720-0132 720-0514 720-0839 720-0192 
 

 

 
 

Inter-Module clamps 
Fixing modules to the base rails 
 
Incl. small parts (pre-assembled): 
| 1 Inter-Module clamp, Aluminium (EN AW 6063 T66) 
| 1 Stainless steel Allen bolt M8 
| 1 Stainless steel lock washer 8 mm 
|      1 Quickstone, Aluminium (EN AW 6063 T66) 
 
Length of bolts:  
| Frame 24-32: Allen bolt M8x40 mm 
| Frame 32-46: Allen bolt M8x55 mm 
| Frame 46-51: Allen bolt M8x65 mm 
 
 

Single part 
Sets 

Clamping range 
Alpha 

20 Pcs 50 Pcs 100 Pcs 

Frame 24 - 32 mm 700-0018 720-0070 720-0073 720-0076 
Frame 32 - 46 mm 700-0019 720-0071 720-0074 720-0077 
Frame 32 – 46 mm 

black 
700-0021 720-0104 720-0105  

Frame 46 - 51 mm 700-0020 720-0072 720-0075 720-0078 
Frame 46 – 51 mm 

black 
700-0023 720-0079 720-1001 720-0080 

 

 

The Inter-module clamps are identical with those used for Theta and Tau. However, the possible 
clamping ranges are reduced for Theta and Tau. The Alpha clamping ranges are therefore not 
valid for Theta and Tau! Other black module clamps are available on request. 

 
 
 
 
 
 
 



Status: 1302   I/11 
 

 
 Product Catalogue – Alpha 

 

 6. Alpha for Laminates  

 Description 

 

 
 
 
 

Laminate clamps 80 mm 
Fixing unframed modules to the base rails 
 
| Approved for FirstSolar, Calyxo and Sulfurcell 
 
Incl. small parts (pre-assembled): 
| 1 Laminate clamp, Aluminium (EN AW 6063 T66) 
| 1 Stainless steel Allen bolt M8 
| 1 Stainless steel lock washer 8 mm 
| 1 Quickstone, Aluminium (EN AW 6063 T66) 
 

 
Single part 

Set 
 20 Pcs 

Inter laminate clamp 80 
mm 

700-0037 720-0508 

Laminate end clamp 80 
mm 

702-0101 720-0507 
 

 
 

Laminate anti-slip protection 250 mm 
For Laminates 

Anti-slip protection for each module when installing modules in portrait orientation. The 
anti-slip protection will be clipped in the modules.  
 
| Aluminium (EN AW 6063 T66) and EPDM rubber   
 

 Single part 
Laminate anti-slip protection 250 mm 712-0040 

 

 

 7. Alpha Roof hooks and hanger bolts 

 Description 

 

Stainless steel Roof hook 170  
Connecting base rails to tile roofs 
 
| Total height 170 mm 
| Upper part 120 mm 
| 46 mm and ø 9 mm oblong hole 
| Ribbing for a secure connection to the base rails 
| Base plate with 12 drill holes à ø 7 mm  
 
The 20 and 50 sets include 3 x woodscrews (6x80 mm) per roof hook. 
 

 Single part  
(Roof hook only) 

Sets 
(incl. small parts) 

 20 Pcs 50 Pcs 
Roof hook  

170 standard 
805-0010 720-0009 720-0013 

Roof hook 106 
twisted bar 

805-0047   

Roof hook  
twice adjust., 
max. 57mm 

805-0071   

Further screw lengths available on request. 



 Status: 1302   I/12 
 

  Product Catalogue – Alpha

Stainless steel Roof hook 170 concrete  
Connecting base rails to concrete and pignatte roofs 
 
| Total height 170 mm 
| Upper part 120 mm 
| 38 mm and ø 9 mm oblong hole 
| Ribbing for a secure connection to the base rails 
| Base plate with 12 drill holes à ø 9 mm  
 
The 20 and 50 sets include 2 x screws + dowel (6x125 mm) for concrete 
per roof hook. 
 

 Single part  
(Roof hook only) 

Sets 
(incl. small parts) 

 20 Pcs 50 Pcs 
Roof hook  

170 concrete 
805-0045 720-0681 720-0682 

 

 

Stainless steel Roof hook for plain tiles  
Connecting base rails to plain tile roofs 
 
Necessary small parts (included in sets only): 

| 1 Bracket 84 x 40 x 7.75 mm 
| 1 Hex bolt M8x25 mm 
| 1 Lock washer 8 mm  
| 1 Hex nut M8 DIN 934 
| 1 Washer 8.4 DIN 9021  
| 2 Wood screws 6x80 mm  

(small parts: Stainless steel) 
 

 Single part  
(Roof hook only) 

Sets 
(incl. small parts) 

 20 Pcs 50 Pcs 
Roof hook for 

plain tiles 
805-0018 720-0097 720-0098 

 

 

Stainless steel Roof hook for Slate/Shingles 
Connecting base rails to slate/shingle roofs 
 
Sets include fixing materials for the roof hook to the rafter and a bracket plus small 
parts for the fixation to the base rail. 

| 1 Bracket 84 x 40 x 7.75 mm 
| 1 Hex bolt screw M8x25 mm  
| 1 Lock washer 8 mm  
| 1 Hex nut M8 DIN 934 A2  
| 1 Washer 8.4 DIN 9021 
| 3 Plywood screws 6x100 mm 

(small parts: Stainless steel) 
 

 Single part  
(Roof hook only) 

Sets 
(incl. small parts) 

 20 Pcs 50 Pcs 
Roof hook for 
slate/shingle 

805-0007 720-0007 720-0011 
 

 
 
 
 
 
 



Status: 1302   I/13 
 

 
 Product Catalogue – Alpha 

 

 Description 

 

Roof hook for heavy snow 
Connecting base rails to tile roofs 
 
| Total height 225 mm 
| 30 mm and ø 9 mm oblong hole 
| Base plate with 7 drill holes à ø 9 mm  
 
The set contains small parts for the connection to the roof: 

| 2 wood screws/roof hook, 8x80 mm, galvanized steel 
| 2 washers per roof hook,  8.4 DIN 9021, stainless steel 
 

 Single part  
(Roof hook only) 

Set 
(incl. small parts) 

 20 Pcs 
Roof hook for 
heavy snow 

V40 
805-0012  

Roof hook for 
heavy snow 

V50 
805-0011 720-0010 

Roof hook for 
heavy snow 

8/35 
805-0051  

Different screws available on request. 

 
 

Clamp-on roof hook pre-assembled 
Connecting base rails to tile roofs 
 
| Is clamped onto the roof battens for fixation 
| Silver 
 
The set contains small parts. 

| 2 screws per roof hook, 4.5x60 mm, galvanized steel 
 

 Single part  
(roof hook only) 

Set 
(incl. small parts) 

 14 Pcs 
Clamp-on roof 

hook 
707-0010 720-0032 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 Status: 1302   I/14 
 

  Product Catalogue – Alpha

 
 
 
 
 

 Description 

 
Stainless steel Hanger bolt M10 
Connecting base rails to metal roofs or similar 
 
| Incl. EPDM seal and nuts 
 
The Sets contain a bracket for the connection to the rail. This bracket can be  
fastened between the upper 2 nuts of the hanger bolt. 
 

 
Single part  

(hanger bolt only) 

Sets 
(incl. bracket) 

 50 Pcs 100 Pcs 
Hanger bolt 
M10x200 

806-0055 720-0014 720-0016 
 

 

Stainless steel Hanger bolt M12 
Connecting base rails to metal roofs or similar 
 
| Incl. EPDM seal and nuts 
 
The Sets contain a bracket for the connection to the rail. This bracket can be  
fastened between the upper 2 nuts of the hanger bolt. 
 

 
Single part  

(hanger bolt only) 

Sets 
(incl. bracket) 

 50 Pcs 100 Pcs 
Hanger bolt 
M12x300 

806-0032 720-0015 720-0017 
 

 
 

 8. Alpha Sets of small parts 

 Description 

 
 Wood screws and washers 

Fixing the roof hook for heavy snow to the roof 
 
For each roof hook, 2 screws and 2 washers are needed. 

| 2 Hex head wood screws 8x80 mm, galvanized steel 
| 2 Washers 8.4, stainless steel 
 

 44 Pcs for 20 roof hooks 110 Pcs for 50 roof hooks 
Wood screw 8x80 mm 

and Washer 8.4 
720-0044 720-0045 

 

 

 

 



Status: 1302   I/15 
 

 
 Product Catalogue – Alpha 

 
 

 

Wood screw 6x80 mm 
Fixing the standard roof hook and for hook for plain tiles to the roof 
 
For each standard roof hook, 3 screws and for each roof hook for plain tiles, 2 screws are 
needed. 

| Torx-Thread (AW 30)  
| Stainless steel 
 

 
66 Pcs for 20 standard-roof 

hook 
150 Pcs for 50 standard 

roof hook 
Wood screw 

6x80 mm 
720-0042 720-0043 

   

 
44 Pcs for 20 roof hooks for 

plain tiles 
110 Pcs for 50 roof hooks 

for plain tiles 
Wood screw 

6x80 mm 
720-0095 720-0096 

 

 

Plywood screws 6x100 mm 
Fixing the roof hook for shingles to the roof 
 
For each roof hook for shingles, 3 screws are needed. 

| Galvanized steel 
| Phillips drive  

 
 

 66 Pcs for 20 roof hooks 150 Pcs for 50 roof hooks 
Plywood screw 

6x100 mm 
720-0046 720-0047 

 
 

Screw + dowel (6x125 mm) for concret 
Fixing the roof hook 170 concrete to concrete and pignatte roofs 
 
For each roof hook 2 screws + dovel are needed. 

| Drill bit SW10 
| With gasket 
| Stainless steel 
 

 
 

 
11 Pcs for 5 roof 

hooks 
44 Pcs for 20 roof 

hooks 
110 Pcs for 50 

roof hooks 
Schraube + Dübel 

6x125 mm 
720-0953 720-0687 720-0688 

 
Fixation for base rails 
Fixing the base rail to the roof hooks/hanger bolts (not pre-assembled) 
 
| 1 Stainless steel Allen bolt M8x25 mm 
| 1 Washer 8.4 DIN 9021, stainless steel 
| 1 Lock washer 8 mm, stainless steel 
| 1 Quickstone, Aluminium (EN AW 6063 T66) 
 

 20 Pcs 50 Pcs 

Rail fixation 720-0051 720-0053 
 

 



 Status: 1302   I/16 
 

  Product Catalogue – Alpha

 

Bracket for Roof hook 
For connections to the roof hooks for plain tiles and shingles 
 
| 84 x 40 x 7.75 mm 
| 27 mm and ø 9 mm oblong hole 
| ø 9 mm drill hole in base plate 
| Aluminium (EN AW 6063 T66) 
 

 
Single part 

Sets 
 20 Pcs 50 Pcs 

Bracket roof hook 601-0032 720-0020 720-0023 
 

 

Bracket for hanger bolt M10 
Connecting the M10 Hangerbolt to the base rail 
 
The bracket is fixed to the hanger bolt between the upper two nuts of the bolt. 
| 84 x 54.5 x 7.75 mm 
| ø 10 mm drill hole in the upper part 
| ø 11 mm in the base plate 
| Aluminium (EN AW 6063 T66) 
 

 
Single part 

Sets 
 20 Pcs 50 Pcs 100 Pcs 

Bracket for hanger bolt 
M10 

601-0035 
720-0021 720-0024 720-0026 

 

 

Bracket for hanger bolt M12 
Connecting the M12 hanger bolt to the base rail 
 
The bracket is fixed to the hanger bolt between the upper two nuts of the bolt. 
| 84 x 54.5 x 7.75 mm 
| ø 10 mm drill hole in upper part 
| ø 13 mm drill hole in base plate 
| Aluminium (EN AW 6063 T66) 
 

 
Single part 

Sets 
 20 Pcs 50 Pcs 100 Pcs 

Bracket for hanger bolt 
M12 

601-0036 720-0022 720-0025 720-0027 
 

 

Fixation for bracket  
Fixing the Bracket to the roof hooks for plain tiles or shingle 
 
All components are made of stainless steel. 

| 1 Allen bolt M8x25 mm 
| 1 Hex nut M8 DIN 934 
| 1 Washer 8.4 DIN 9021 
| 1 Lock washer 8 mm 

 20 Pcs 50 Pcs 
Fixation for bracket 720-0040 720-0041 

 



Status: 1302   I/17 
 

 
 Product Catalogue – Alpha 

 
 

Anti-slip protection 
For all roof types 

Anti-slip protection for the lowest row of modules when installing modules in portrait  
orientation. For each module in that row, 2 bolts and 2 nuts are needed.  
 
All components are made of stainless steel. 

| Hex bolt M6x20 mm 
| Hex nut M6 

 20 Pcs for 10 modules 50 Pcs for 25 modules 
Anti-slip protection 720-0030 720-0031 

 

 

 
 
 

X-Stone pre-assembled 
For installations with two layers of rails 
 
Compatible with all base rails 
 
For 2 angles between rails: 

| 45° for uneven connections 
| 90° for level connections 

 Single part 
<300 Pcs 
≥300  cs 

Sets 

 20 Pcs 50 Pcs 

X-Stone 45° with 
level connections 

704-0002 720-0193  

X-Stone 90° with 
level connections 

704-0003 720-0194 720-0196 
 

 

Quickstone 
The intelligent nut 
 
| l = 20 mm 
| Aluminium (EN AW 6063 T66) 
| Used with Allen bolts for all fixations 
| For the connections of the rail to the roof hook/hanger bolt and for the connection to the 

modules 
 

 50 Pcs 100 Pcs 
Quickstone 720-0093 720-0094 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 Status: 1302   I/18 
 

  Product Catalogue – Alpha

 

 9. Cabel fixing/Grounding components 

 

Omega-Clip 
Cabel fixation by cliking the Omega-Clip into the base rail 
 
| plastic 
| high UV-resistent 
| black 
 

 Single part Set 
100 Pcs 

Omega-Clip, 8-14mm, black 807-0134 720-0972 
 

 

WEEBL-8.2 pre-assembled 
Cable clamp for grounding the rows of base rails 
 
Pre-assembled with fixation for the base rail. 
 
| 1 WEEBL-8.2 
| 1 Stainless steel Allen bolt M8x25 mm 
| 1 Washer 8.4 DIN 9021, stainless steel 
| 1 Lock washer 8 mm, stainless steel 
| 1 Quickstone, Aluminium (EN AW 6063 T66) 
 

 4 Pcs 100 Pcs 

WEEBL-8.2 pre-assembled 720-0842 720-0759 
 

 

WEEB-CMC 
Grounding clip for low-resistance connection between modules and base rails 
 
The installation occurs together with the inter-module clamp, so that the grounding clip 
sits between the base rail and the module frame.  
 

 20 Pcs 

WEEB-CMC grounding clip 720-0848 

 Sets 

 20 Pcs 50 Pcs 

Inter-Module clamps frame 32-46 mm  
with groundingclip 

720-0528 720-0530 

Inter-Module clamps frame 32-46 mm 
black with groundingclip 

720-0529 720-0531 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



Status: 1302   I/19 
 

 
 Product Catalogue – Alpha 

 

 10. Alpha Samples 

 Description 

 
 

Sample case Alpha 
Sample case with various Alpha parts.  
 

 Single part 

Sample case Alpha 720-0527 
 

 

Product samples Alpha 
Sample box with different Alpha components loosely packed in a carton  
 

 Single part 

Loose product samples Tau 720-1061 

 

Product samples QCC 
Sample box with different QCC components loosely packed in a carton  
 

 Single part 

Loose product samples QCC 720-1060 
 
 

 11. Special components 

 

 
Connections to metal roofs 

 
 

 Adaptor plate for trapezoid metal sheet 
 Description 

 

Adaptor plate for trapezoid metal sheet  
Fixing PV-installations on profiled sheeting without reaching the sub-construction of 
the roof 

 

Drilling screw 
Fixing the adaptor plates to the trapezoid metal sheets 
 
| With drill bit 
| Stainless steel (V2A) 
 

 Single Part 

JT3-2-6x25 E16/2 VA2 806-0170 
 

 

With this type of fixation, the roof skin – i.e. the profiled sheeting and its fixation 
must be able to withstand all occurring loads. The customer is solely responsible for 
clearing this issue. Mounting Systems GmbH will not statically verify the  
suitability of any roof for this type of fixation. 

 



 Status: 1302   I/20 
 

  Product Catalogue – Alpha

 

Notes 

| The type and form of the adaptor plate depends on the form of the profiled sheeting. 
| Due to the multitude of different forms, we do not stock adaptor plates but will have the specific forms  

produced to your orders.  
| For inquiries, please use our form “Technical Planning Aid metal roofs” and mail it to  

sales@mounting-systems.de. You will get a quote including the ISP and article number which you should 
use for your order.  

| The standard adaptor plate features a welded threaded rod M10 (others on request). 
| Delivery time: Goods issue ex works within 3 to 4 weeks after receipt of written order 
| The installation of Alpha base rails on the adaptor plate requires the following additional small parts: 

 

 

Quantity Description Art.-No. Price 
1 Bracket Alpha for hanger bolt M10 *  
1 Standard rail fixation *  
4 Drilling screw JT3-2-6x25-E16/2 A2 806-0170  
2 Hex nut M10 A2 807-0030  
2 Washer 10.5 A2 807-0026  

 * cf. Alpha Sets of small parts (no singles available) 

 

| As an option, you can order additional EPDM strips for the adaptor plate: 

 
 Single part 

EPDM  
(120 x 1 mm, 10 m long) 

809-0056 
 

 

 Clamps 
 Description 

 

 

Sheet metal clamp 
Fixing PV-Installations on standing seem sheeting without penetration 
 

 Single part 
Sheet metal clamp  805-0029 

 

 

Kalzip clamp 
Fixing PV-installations on Kalzip roofs without penetration 
 

 Single part 
Kalzip-clamp 805-0032 

 

 

Zambelli-clamp 
Fixing PV-installations on Zambelli Rib-Roofs without penetration 
 

 Single part 
Zambelli-clamp VA2 805-0031 

 

 

S-5 E-Mini-Clamp 
Fixing PV-Installations on standing seam roofs without penetration 
 

 Single part 
S-5 E-Mini 805-0074 

 



Status: 1302   I/21 
 

 
 Product Catalogue – Alpha 

 

S-5 Z-Mini-Clamp 
Fixing PV-installations for example on Kalzip roofs without penetration 
 

 Single part 
S-5 Z-Mini 805-0076 

 

 

With this type of fixation, the roof skin – i.e. the standing seem sheeting and its  
fixation must be able to withstand all occurring loads. The customer is solely  
responsible for clearing this issue. Mounting Systems GmbH will not statically verify 
the suitability of any roof for this type of fixation. 

 
 

Notes 

| The type and form of the clamp depends on the form of the profiled sheeting. 
| You can order the respective clamp under the above stated article numbers.  
| Please note that the clamps are not pre-assembled 
| When in doubt, please fill in the form “Technical Planning Aid metal roofs” and mail it to  

sales@mounting-systems.de. 
| Delivery time: Goods issue ex works within 2 weeks after receipt of written order 

 

| The installation of Alpha base rails on the clamps requires the following additional small parts: 
 

 

 

Quantity Description Art.-No. Price 
1 Bracket Alpha for hanger bolt M10 * * 
1 Standard rail fixation * * 
1 Fixation for bracket * * 

 * cf. Alpha sets of small parts (no singles available) 

 

 EJOT® - Solar fasteners 

 

Fixing PV-installations to profiled sheeting, sandwich-elements and corrugated fibre 
cement claddings 

| Like the standard hanger bolts, the Solar fasteners are drilled into the sub 
construction of the roof and are thus discharging all occurring loads into that 
construction.  

| Calottes or sealing washers add additional security against leakage 
| Available for all standard sub constructions, both from wood and from metal 

Notes 

| The type of Solar fastener depends on the type of profiled sheeting, on the thickness and material of 
the sub construction and on the distance between sub construction and roof skin. 

| Due to this multitude of options, we do not stock Solar fasteners but will have the specific types 
produced to your orders.  

| For inquiries, please use our form “Technical Planning Aid metal roofs” (cf. documents) and mail it to 
sales@mounting-systems.de. You will get a quote containing the ISP and an article number which you 
should use for your order.  

| Please note that with EJOT Solar fasteners, the upper thread is M10 and the lower one M8. 
| Delivery times: Goods issue ex works within 2 weeks after receipt of written order  

| The installation of Alpha base rails on the solar fasteners requires the following additional small parts: 
 

 

 

Quantity Description Art.-No. Price 
1 Bracket Alpha for hanger bolts M10 * * 
1 Standard rail fixation * * 

 * cf. Alpha Sets of small parts (no singles available) 

 



 Status: 1302   I/22 
 

  Product Catalogue – Alpha

 

 Anti-theft protection 

 

Safety glue for screws/bolts 
Additional mechanical security against module theft 
 

 Single part 
Screw strength for ca. 150 screws 814-0098 

 

 
 
 
 
 
 

 

Security hexagon screws M8 
Shear bolt with a shear head which breaks at tightening torque of 10-12Nm 

 
Einsetzbar bei Length Single part 

Alpha all Z-End clamps 
Lambda module clamp f. landscape 

Security screw M8x25 806-0246 

All Laminate clamps Security screw M8x30 806-0258 

Alpha Inter-module clamp fr 32-46mm 
Zeta Inter-module clamp fr 50-54mm 

X-Stone 90° 
Lambda X-Stone 

Security screw M8x55 806-0259 

Alpha Inter-module clamp fr 46-51mm 
Theta, Tau Inter-module clamp fr 51-55mm 

Security screw M8x65 806-0260 
 

 



 

 
 
 
 
 
 
  

S.A.R.L CAPENERGIE
Mas d'alhem - 34150 - La Boissière - France
Tél : 04 67 56 77 91 - Fax : 04 67 55 52 25
E-Mail : info@capenergie.fr
www.capenergie.fr
 

  
 


	Deckblatt-Alpha-ENG-1302


<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


